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Section Id : 686340865
Section Number : 1
Section type : Online
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Number of Questions : 21
Number of Questions to be attempted : 21
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Maximum Instruction Time : 0
Sub-Section Number : 1
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Question Id : 68634043948 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 68634043949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634043950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634043951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-id &l Py fGU L §: Ud ey A® U H [Rad & Ol gUl 94 dRU R B EU H ¢

JTHBYT A - UF 15! GUst, YA T 51 [y
a1 UG Sifg od, WY 6 o 9| |

FIRUR: [ © 3R % 92 & 99H | 1% FIaR 31U+ sy o 101 &1 fasr™ &l 51 91 %R, fHgl &t
Wéﬁﬁ%w%aﬂﬁﬁﬁﬁmﬁwm%’l

SWRIdd &Y o 3fciies 1, -i1d feu U et § 9 999 Iugad 3R & 904 Bifad:
1. ARREFA 9T T 3R R A DI T6| A &
2. A SRR 90 & SRR, A D el A ol &

3.A JUS AfpR 3T B

4 A IS APTIRITR

Options :

686340173609. 1
686340173610. 2
686340173611. 3
686340173612. 4

Question Number : 4 Question Id : 68634043952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634043953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 68634043948 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time



: N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 68634043949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634043950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634043951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634043952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634043953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2



Sub-Section Id : 6863401437
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 68634043954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634043954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634043955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634043955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634043956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634043956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634043957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634043957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634043958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634043958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634043959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634043959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634043960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634043960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634043961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634043961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634043962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634043963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634043963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634043964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i 3T 70 Y1 BT SRR B §U &l Fepy ST SR 1 &1 1% 6

HYA : THARI T[] & Fa= H SR &1 SiEd §ia1 3, a2 3 ¥ Ugd 397 a9 SaeHR a1 Teic
3 IR B

e 1 : [l 1 iyl & o =81 =1 anfsuy
11 : (9 TP R SWiR Wiy AT FAfg su T Sd gl

AU HYH T A $HH I HY BT I X T61 & UgdH DIIC:
1. Bad 11 TR0 Hl 5

2. A I SRV BIAT 5 |
3. Q1 3R 11 3SR $dl o
A4 TGN AT SRR el 6|
Options :
686340173661. 1
686340173662. 2

686340173663. 3
686340173664. 4

Question Number : 16 Question Id : 68634043964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634043965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634043965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634043966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634043966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634043967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Number : 20 Question Id : 68634043968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634043968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. AR

2. GUAR

3T

4. YehdR
Options :
686340173677. 1
686340173678. 2

686340173679. 3
686340173680. 4

Question Number : 21 Question Id : 68634043969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gedt & 3 Y3t & uRa: aRymu Bt 3rafi & ga wefig srafd ard Sue # &l ol 5|

1. Y IUI8
TP I9TT

. VTS I9U
4. TTYUT (INSAT)

Options :

686340173681. 1
686340173682. 2
686340173683. 3
686340173684. 4

| )

L

Question Number : 21 Question Id : 68634043969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gedt % ST ¢ & ik TRy 1 safd & g Saft crafd ard Suus & CES I
1. Ydig I9Ug

2. TWifde 3ugs

3. Y- Rfd® IUUE

4. TTYUT (INSAT)
Options :

686340173681. 1
686340173682. 2
686340173683. 3
686340173684. 4

Question Number : 22 Question Id : 68634043970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor

LIST I LIST II

' R

A [@Ted] L [6Ribs
B. [EScd! 1L [PRal
C. [vrem uegHiEg Bl 111 [PRIgE
D. [HIehl v fq@e
FofaRad faeaal § O 981 9Tk &1 904 Bifg -

1. A-IIIL B-I. C-IV, D-I1
2. AIL B-IV. C-I. D-1II
3. AL B-IV. C-L. D-II
4, A-IL B-L. C-IV. D-11I

Options :

686340173685. 1
686340173686. 2
686340173687. 3
686340173688. 4

Question Number : 22 Question Id : 68634043970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

LIST I LIST II
TEqHIT-ad HU Ll

A [@Ted] L [6Ribs

B. [EScd! 1L [PRal

C. [vrem uegHiEg Bl 111 [BR1gE

D. [Hiehl v Rq@e

frofefEd faeal & U 98! 3R &1 90 S -

1. A-IIIL B-1. C-IV. D-I1

| )

AL B-IV, C-1, D-III
3. AL B-IV. C-L. D-II
4, A-IL B-L. C-IV. D-11I

Options :

686340173685. 1
686340173686. 2
686340173687. 3
686340173688. 4

Question Number : 23 Question Id : 68634043971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W (3e0ef) TUG o Uh Yo & aia I A 3R 30 U & Dl dle 4 & [0d $e gohdl g |
43 "edl [bd ¥U 8§ 51 o1l 8

1. AIER
- T& gfvada
JB-aTe

4. 9ed U3 JHUU]

[

L]

Options :

686340173689. 1
686340173690. 2
686340173691. 3
686340173692. 4

Question Number : 23 Question Id : 68634043971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR (37e08) TG & U Yard & aia o A R 30 TH 968 DI aie 4 & 04 $e 9har g
gg "ol g o0 § ol St 81

1. [OIFER
. g& aRadA

S-S
4, g 9 JHUT

Options :

686340173689. 1
686340173690. 2
686340173691. 3
686340173692. 4

| )

[#5]

Question Number : 24 Question Id : 68634043972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gl 1 1 Yl 1 ¥ fieH sifore

| 1I
A | gar 1 71197 ST TR
B. RrH®™ {7 I1. [0 TH Sl
C. [gde oiw f5g- gmgel 111 [eare SREad!
D. [4r=re Hiay o Iv. [l [dadg
frrafeiad ol & 9 98t IR @1 I Sifo .

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-1I
3. A-IV,B-III, C-1, D-II
4. A-II B-IV, C-1, D-1II

Options :

686340173693. 1
686340173694. 2
686340173695. 3
686340173696. 4

Question Number : 24 Question Id : 68634043972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

I 11
A |3 o 1 [TII9Te T TR
B. R m=H I [T T4, S
C. [gde 3w 3507 graEd] 111 [EoT-g 9%
D. [GI=Ia iy o V. [t fdadrg
fafafad fae i & 3 98t SR &1 994 ST

1. ATl BIV. CII, DI

-2

AL B-IV, C-1, D-II
3.A-IV.B-IL C-L. D-II
4. A-IL B-IV, C-I. D-1II

Options :

686340173693. 1
686340173694. 2
686340173695. 3
686340173696. 4

Question Number : 25 Question Id : 68634043973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YebU TR S BT b5 (g $U H S Sl &
1. YT B
2. 70 (PIPH)

4 :
4. 3fEh=

Options :

686340173697. 1
686340173698. 2
686340173699. 3
686340173700. 4

Question Number : 25 Question Id : 68634043973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&Y T Sl B 5 (b4 9 T o] Sl ©

1. YT B
2. T[T (PI)
3. UPIRESA
4. b=

Options :

686340173697. 1

686340173698. 2

686340173699. 3
686340173700. 4

Part B: Sports Physiology etc

Section Id : 686340866
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401438
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634043974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not an example of compound lipids?

—

. Phospholipids

| )

. Glycolipids

3. Lipoproteins

e

. Triacylglycerols

Options :

686340173701. 1
686340173702. 2
686340173703. 3
686340173704. 4



Question Number : 26 Question Id : 68634043974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 7 O 191 U, i A0S 1 3360 T8l 87
1. BiEp] fafus
. i
Options :
686340173701. 1
686340173702. 2

686340173703. 3
686340173704. 4

| )

[#5]

Question Number : 27 Question Id : 68634043975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one is not a classification of enzymes according to type of reactions that they catalyze ?

1. Hydrolases cleave compound
2. Ligases join compound
3. Isomerases preserve molecule
4. Oxidoreductases transfer electrons

Options :

686340173705. 1

686340173706. 2

686340173707. 3
686340173708. 4

Question Number : 27 Question Id : 68634043975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. e gy &ild SIS S

e iffe s
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4, TSRS T4 g SAag 9 &1 RO

| )

L

Options :

686340173705. 1
686340173706. 2
686340173707 3
686340173708. 4

Question Number : 28 Question Id : 68634043976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The glucose enters into a pathway called the hexose monophosphate shunt which is also known as -

1. Pentose phosphate pathway

[

. Gluconeogenesis pathway

L]

. Phosphorylation

=

. Glycolytic pathway
Options :

686340173709. 1
686340173710. 2

686340173711. 3
686340173712. 4

Question Number : 28 Question Id : 68634043976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qH IS U AT H 70% ¢, o Sem B Xie el aidl 6. S s wa H i I S g -
1. U< BiEpe At
TR T
 PIERIRTIH

| )

L]

TS HIagied At

e

Options :



686340173709. 1
686340173710. 2
686340173711. 3
686340173712. 4

Question Number : 29 Question Id : 68634043977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the correct explanation of 'Glycogenolysis' ?

1. Making of glycogen

[ )

. Breakdown of glycogen
3. Oxidation of glucose
4. Oxidation of pyruvate
Options :
686340173713. 1
686340173714. 2

686340173715. 3
686340173716. 4

Question Number : 29 Question Id : 68634043977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TATS SIS T S Jal oTed &7 87
 TATg® e @ Hafor

RRIECANE KA RWE ]

[a—y

| )

3. [P IS BT SHTTH ]
4. UI52dc BT SHTGHIHI

Options :

686340173713. 1
686340173714. 2
686340173715. 3
686340173716. 4

Question Number : 30 Question Id : 68634043978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which amongst the following is not a classification of complex carbohydrates ?
1. Raffinose

. Stachyose

| B

3. Verbacose
4, Sucrose

Options :

686340173717. 1
686340173718. 2
686340173719. 3
686340173720. 4

Question Number : 30 Question Id : 68634043978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 T O ST Ticd Braelsge & g Aol 87

1. YBHI
2. s
4. Gepiwl

Options :

686340173717. 1

686340173718.2

686340173719. 3
686340173720. 4

[#5]

Question Number : 31 Question Id : 68634043979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The enzymes released by the pancreas, digest approximately percent of carbohydrates.

1.50%

[

. 80%
3. 90%
4. 40%

Options :
686340173721. 1



686340173722. 2
686340173723. 3
686340173724. 4

Question Number : 31 Question Id : 68634043979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ufp TR (3rRE) gRI1 AR Temssy, @y Plelglegcd dI UaM g |

1. 50%

-
2]
=
=]
=

3. 90%
4. 40%

Options :

686340173721.
686340173722.
686340173723.
686340173724.

AW N —

Question Number : 32 Question Id : 68634043980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many ATP molecules are produced when FADH is re-oxidized to FAD ?

1.2

b=
Lad

4.9

Options :

686340173725. 1
686340173726. 2
686340173727. 3
686340173728. 4

Question Number : 32 Question Id : 68634043980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ofd FADH @1 FAD ¥ G=%: S{quiiepd faoan oIt 8. df fara= ATP 310] 34 §id &7

G

b2
L]

4.9

Options :

686340173725. 1
686340173726. 2
686340173727. 3
686340173728. 4

Question Number : 33 Question Id : 68634043981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Lactic acid is a by-product of Anaerobic Glycolysis.

Reason R: Deficiency of oxygen leads to this kind of reaction.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 18 NOT the correct explanation of A
3. A is correct but R is not Correct

4. A 1s not correct but R is correct

Options :

686340173729. 1
686340173730. 2
686340173731. 3
686340173732. 4

Question Number : 33 Question Id : 68634043981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HfiFmY A Tfded Uys, TIRIRS TsaasiG 1 aguse (G 3ae) e
HRUIR; AT D] HH 5H TSR B Fidiehdl &1 3R & ot o

SIRIGd DY & el H, i U U fadhetl & 9§ a8 3ugad 3R &1 99+ Sif
1. A SRR A 961 € SRR A S el TR ©

A SRR M 98 § SR R. A D] Gl IR -8l §

AT AT R TSR

4. A1 T8I ¢ Al R W6l &

Options :

686340173729. 1
686340173730. 2
686340173731. 3
686340173732. 4

(B

L]

Question Number : 34 Question Id : 68634043982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following compound in descending order of energy of Hydrolysis -

A ATP

B. Phosphocreatine

C. Glucose 1-phosphate
D. Glucose 6-phosphate
E. Phosphoenolpyruvate

Choose the correct answer trom the options given below:
1.E;B.A.€.D
2.D,€.AB.E
3.4, B,D,E,; C

4. C.B.D.A.E

Options :

686340173733. 1
686340173734. 2
686340173735. 3
686340173736. 4

Question Number : 34 Question Id : 68634043982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

EIZSIdS ¥ Soll o AR Halkiigd | ®f ued U od § HAaiid SIfuu:

A T 2L
B. BIEhifghufeH

C. Il 1- BIEhe
D. I 6- IEhe
E. BIEpHIAUSSde

- fod T fomedt & © Hel SR &l 90 Bifvig -

LE.BACD

b2

B CABE
3-A. B, B.C
4. C.B.D.AE

Options :

686340173733. 1
686340173734. 2
686340173735. 3
686340173736. 4

Question Number : 35 Question Id : 68634043983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I : Glycolysis is the pathway by which glucose is degraded into two units of pyruvate, a triose.
Statement II : Under anacrobic condition that is. in a situation of oxygen debt-pyruvate 1s converted to lactate.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is correct but Statement II is false.
4., Statement I is incorrect but Statement II 1s true.
Options :
686340173737. 1
686340173738. 2

686340173739. 3
686340173740. 4

Question Number : 35 Question Id : 68634043983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340173737. 1
686340173738. 2
686340173739. 3
686340173740. 4

Question Number : 36 Question Id : 68634043984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Out of the following, what includes simple lipids ?
A. Fatty acids
B. Waxes

C. Ethyl alcohol
D. Derived lipids

Choose the most appropriate answer from the options given below:
1. Aand B Only
2. A and C Only
3. B and C Only

4. B and D Only

Options :

686340173741. 1
686340173742. 2
686340173743. 3
686340173744. 4

Question Number : 36 Question Id : 68634043984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A, T 3T
B. afgg

C. TS epied
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- 138 7 fodedl T O gaifiie Iued IR & 99 Bl ;

1. Had A AR B
2. HAAT AR C
3. BaAB 3R C
4. %dd B 3R D

Options :

686340173741. 1

686340173742, 2

686340173743. 3
686340173744. 4

Question Number : 37 Question Id : 68634043985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Cholic acid + glyveine 1. |Taurocholic acid
Chenodeoxvcholic acid + glycine] 1. |[Taurochenodeoxy-cholic acid
Cholic acid + taurine I11. |Glycocholic acid
Chenodeoxvcholic acid = taurine | IV, |Glycochenodeoxy-cholic acid

T REE

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-1. D-II

| E)

CA-IV, B-TILL C-I1. D-1
3. AL BI, CIV, DI
4. AT, B-1, C-IV, D-I1

Options :

686340173745. 1
686340173746. 2
686340173747. 3
686340173748. 4



Question Number : 37 Question Id : 68634043985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 =i 11 6 Ty e S

T I T I
_ [@Iicie TS + Tegha I [eRi®ie® TS
IS IamIad TS - g 1L [eRiAIsha-dliad g
BIfeid TS = 21 111 [elrgchidiicie TS
TS aa®BI® TS ~ eRd | IV. faseaeiics tis

- 48 T famedi 7 ¥ el SR BT 99 BIfog ;

1. AL B-IV. C-1. D-II

o|o|w|>

|

CA-IV, B-II0, C-I1, D-1
3. AL B-II, C-IV, D-1II
4. A-ITT, B-I. C-IV, D-II

Options :

686340173745. 1
686340173746. 2
686340173747. 3
686340173748. 4

Question Number : 38 Question Id : 68634043986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the process of translation.

A Peptide bonds are made between amino acids

B. mRNA molecule binds to a ribosome

C. Amino acylated tRNA's are brought to the ribosome
D. The bonds between last tRNA 1s broken

E. Completed polypeptide is removed

Choose the correct answer trom the options given below:

1. C,A.B.D.E

[

5 Gt & - W B 1 s
3.A.B.C,D.E
4.B.C.A.D.E

Options :

686340173749. 1

686340173750. 2
686340173751. 3



686340173752. 4

Question Number : 38 Question Id : 68634043986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrEvichar &1 UM IR affyd Sif-
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JE, BLACDLE
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4.B.C.A.D.E

Options :

686340173749. 1
686340173750. 2
686340173751. 3
686340173752. 4

Question Number : 39 Question Id : 68634043987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the 1s labelled as Reason R
Assertion A: A father will never pass the gene of hemophilia to his sons.
Reason R: Hemophilia is a x-linked Recessive Inheritance.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 18 NOT the correct explanation of A
3. A is correct but R is not Correct
4. A is not correct but R is correct
Options :
686340173753. 1

686340173754. 2
686340173755. 3



686340173756. 4

Question Number : 39 Question Id : 68634043987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340173753. 1
686340173754. 2
686340173755. 3
686340173756. 4
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Question Number : 40 Question Id : 68634043988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During fertilisation process. what does the zygote receives only from the maternal parent ?

A. mitochondria

B. cytoplasm

C. cytoplasmic organelles
D. plastids

Choose the correct answer from the options given below:
1. Aand B Only
2. B and D Only
3. Aand D Only

4. A and C Ouly

Options :

686340173757. 1
686340173758. 2
686340173759. 3
686340173760. 4



Question Number : 40 Question Id : 68634043988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8= ufeha1 & SR, THal Sad HIgeld 4 1 U Bl 2

A. TEC®ITSal

B. BIfHI 5

C. grgeiwfod® AT
D. Wie gy

A {48 7 foedl § 9 9gl 3R &l 99 DI ;

1. A A AR B
2. Fad B AR D
3. HaA A IRD
4. Fad AR C

Options :

686340173757. 1

686340173758. 2

686340173759. 3
686340173760. 4

Question Number : 41 Question Id : 68634043989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
| Aneuploidy I |multiples of same genome
Euploidy II. |2n = chromosomes

Auto polyploidy | IIL jmultiples of n
Allo polyplowdy | IV, [multiples of closely related|

REE

Choose the correct answer trom the options given below:

1. A-IIL, B-I1, C-1. D-IV

[ ]

AT BA-TIIL C-1, DIV

L]

CA-TL B-TILL C-IV, D-I
4, AT, B-II, C-IV, D-I
Options :

686340173761. 1
686340173762. 2



686340173763. 3
686340173764. 4

Question Number : 41 Question Id : 68634043989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 Gl 11 & 1Y o S

T I T 1
gessl | 1 U o S &
RSIEE] 11 [2n= SHEME
Hiegreege] 11 | & Tord
s v [aiie! 4 Seitd & o)

- 30 M fowedl § O U8l 3T &1 9u- difulg -

1. A-IIT, B-I1, C-1, D-IV

ofofw]s

-2

CATL BT, C-I, DIV
3. A-IL B-IIL C-IV, D-1
4. A-IIT, B-1I. C-TV. D-I

Options :

686340173761. 1

686340173762. 2

686340173763. 3
686340173764. 4

Question Number : 42 Question Id : 68634043990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: As predicted by the Watson - Crick model. the genetic continuity between parental and progeny
cells is maintained by semi-conservative replication of DNA.

Statement II: Semi conservative replication uses each strand of the parent double helix as a template and each
newly replicated double helix includes old strands of DNA.

1. Both Statement I and Statement II are correct

b2

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement [ is incorrect but Statement II is correct
Options :

686340173765. 1
686340173766. 2



686340173767. 3
686340173768. 4

Question Number : 42 Question Id : 68634043990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa gy fRumu .

TY I O B acH--shd Hisd gRI ST [oha1 &, far Arar-fiar &R Safd Sikesi & 4=
SHTARIE FaRdT ST 1 3¢ =fegaral Hiadid gRI a8 3@l ol 1

B 11: 318 Fgaral WiaPp i Od Sad gieiad & U XS $l U cHdie & &0 § 39ai &l § iR
U U Uil Sad sfced o Sy & )RH XS WiHd 81d 81

In the light of the above statements. choose the most appropriate answer from the options given below:
1. BYT 1 3R BYUT 11 &1 B
2. YU 1 3R Y1170 ©
3. PYT 1 el § Tifch=1 YU 11717 ©
4. U 17707 § WA B 11 98T 8

Options :

686340173765. 1
686340173766. 2
686340173767. 3
686340173768. 4

Question Number : 43 Question Id : 68634043991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which syndrome is characterised by the partial or complete absence of one of the X chromosomes in females.
resulting in the reduction of the total number of chromosomes to 45 ?

1. Turner syndrome
2. Down syndrome
3. Kline felter syndrome
4. Cri-du-chat syndrome
Options :
686340173769. 1
686340173770. 2

686340173771. 3
686340173772. 4



Question Number : 43 Question Id : 68634043991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HH-4 Rigm afgarsit & tau(x) ToRE! 8 ¥ Te & i1 a1 gof srufufa <t famiva 3. foas
URUIHER=Y URET &1 el T gedH 45 5l Wl 62

1. TR RigH

B34 RigH
e hacl [{HgM
Options :

686340173769. 1

686340173770. 2

686340173771. 3
686340173772. 4

[

L]

=Y

Question Number : 44 Question Id : 68634043992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who among the following had first described the structure of DNA ?

1. James Watzon and Maurice Wilkins

| )

. James Watson and Francis Crick
3. James Watson and Erwin Chargaff
4. JTames Watson and Rosalind Franking

Options :

686340173773. 1
686340173774. 2
686340173775. 3
686340173776. 4

Question Number : 44 Question Id : 68634043992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafeiad H 9 four 9ad Uga SITT &1 4= $1 aui faar 41
1. oIt Ty ayT g1 fafee—

 OIFT aTeq qUT Wi foodp

IRy AT QT Ul IRIe

4, SR greg- quT gfes dide

Options :

686340173773. 1
686340173774. 2
686340173775. 3
686340173776. 4

| )

L

Question Number : 45 Question Id : 68634043993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of making an RNA strand from a DNA template 1s known as 7

1. Translation

| )

. Transeription
3. Transformation

4, Transduction

Options :

686340173777. 1
686340173778. 2
686340173779. 3
686340173780. 4

Question Number : 45 Question Id : 68634043993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST TIie T SRUAU XS a1 3 Wiehdl &l & =9 H §FT o1dl 82

|

Options :
686340173777. 1



686340173778. 2
686340173779. 3
686340173780. 4

Question Number : 46 Question Id : 68634043994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which following condition. a segment of a chromosome is inverted and it does not include the centromere
K

1. Translocation

| )

. Pericentric Inversions

3. Paracentric Inversions

e

. Epicentric Inversions

Options :

686340173781. 1
686340173782. 2
686340173783. 3
686340173784. 4

Question Number : 46 Question Id : 68634043994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafefad 3 9 fog Rufa 3. S1HW @1 U6 9 Jeel 8idT § 3R 59H Jelifgr wnfid Jel gial g2
s e

-~

i o Y

4. UfGEfe® gaui

| )

L

Options :

686340173781. 1
686340173782. 2
686340173783. 3
686340173784. 4

Question Number : 47 Question Id : 68634043995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which energy rich molecule is required for the initiation of translation 7

1.CTP

| B

. AMP
3. ATP

4. GTP

Options :

686340173785. 1
686340173786. 2
686340173787. 3
686340173788. 4

Question Number : 47 Question Id : 68634043995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAATE B LEATT D (AU [59 ol GG 0] DI APl Bicll 57

1.CTP

| )

. AMP
3. ATP
4, GTP
Options :
686340173785. 1
686340173786. 2

686340173787. 3
686340173788. 4

Question Number : 48 Question Id : 68634043996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A woman has a X-linked condition on one of her X-chromosomes. This chromosome can be inherited by :

1. Only Sons

[

. Only daughters
3. Both sons and daughters
4. Only grand children
Options :

686340173789. 1
686340173790. 2



686340173791. 3
686340173792. 4

Question Number : 48 Question Id : 68634043996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Ol & Ual-pHay O 4 [l Us W vag-iods [ld 31 58 URE & fhhd gRI faed 4 i
e S wamd @

o

aa R A

G Al qur gl |
4, dad Urddifaai §

Options :

686340173789. 1

686340173790. 2

686340173791. 3
686340173792. 4

—

| ]

LFN]

Question Number : 49 Question Id : 68634043997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following minerals are trace minerals ?

A. Sulphur
B. Cooper
C. Iodine
D. Iron

Choose the correct answer from the options given below:
1. Aand B Only
2. A B. and C Only
3.B. C and D Only

4. A. B and D Only

Options :

686340173793. 1
686340173794. 2
686340173795. 3
686340173796. 4

Question Number : 49 Question Id : 68634043997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Fafaigd eHel 9 eH-a e ERa s 2

N 15 T
B. P

C. SIS
D. HGH

- fod T fomedt & © el STR &l 90 g -
1. %ad A 3R B
2. PAAA.B. R C
3.%ddB. C 3R D
4 BTAA.BIARD

Options :

686340173793. 1
686340173794. 2
686340173795. 3
686340173796. 4

Question Number : 50 Question Id : 68634043998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Pulmonary ventilation is movement of air into and out of the lungs.

Statement II: Pulmonary diffusion is the exchange of oxygen and carbon dioxide between the lung and the

blood.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.

2

. Both Statement I and Statement II are false
3. Statement I is correct but Statement II 1s false

4, Statement I is incorrect but Statement II is true

Options :

686340173797. 1
686340173798. 2
686340173799. 3
686340173800. 4



Question Number : 50 Question Id : 68634043998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I EEAICAC R S

U1 : TeER) afede BHhel & 3ieX 3R |18¥ gal &1 a9 o

DY 11 - TeHR] TR BH S 3R 3ad & &g Ao 3R Pa--s15 3 ass &l EH-UgH ol
QI BYHI b UHTY H: A1 S0 U [dHed| § U Yel 3R &1 99 I

. PYTIdYT HYT I SHI T8 &

[

HYT I AT HYT I &1 TTed §
I TSI S AP pYT I T d ©
HYF 17T © Sl YA 11 U8l &

LFN]

=Y

Options :

686340173797. 1
686340173798. 2
686340173799. 3
686340173800. 4

Question Number : 51 Question Id : 68634043999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: RBC have nucleus. so they can reproduce as other cell can.

Statement II: RBC transport oxygen. which is primarily bound to hemoglobin.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement I are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT 1s true

Options :

686340173801. 1
686340173802. 2
686340173803. 3
686340173804. 4

Question Number : 51 Question Id : 68634043999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR P RTME:
FYT1 : AR, &1, H1. ¥ g BiaT o, ST 3 gEs] HI@1s $i oig Tor & 9d ol
FUF I : R & . RIS &1 kg Hd 8. o 52 =0 ¥ giraied & fag s gl
SWRIdd DY & UP F 3T 70 fadhedl § 96! IR &1 =9 BT -
1. BT I IR BYF 11 1 T 2
BYA T HR BYT I G A B
 BYT 1 B! § Wih YU 11 7Ted &
YA 1T © W] BU I HEl o

[B]

L]

e

Options :

686340173801. 1
686340173802. 2
686340173803. 3
686340173804. 4

Question Number : 52 Question Id : 68634044000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which of the following food item "Gluten' is found ?

1. Potato

| B

. Rice
3. Wheat
4. Milk

Options :

686340173805. 1
686340173806. 2
686340173807. 3
686340173808. 4

Question Number : 52 Question Id : 68634044000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafeiaa o 9 g e yerd o wqfe umr S e 2

1. 3T
|G|

4,34

Options :

686340173805. 1
686340173806. 2
686340173807. 3
686340173808. 4

| )

L

Question Number : 53 Question Id : 68634044001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On the side towards the axon, the cell body tapers into a cone-shaped region which is known as the

1. Dendrites
2. Axon terminals
3. Axon hillock

4, End branches

Options :

686340173809. 1
686340173810. 2
686340173811. 3
686340173812. 4

Question Number : 53 Question Id : 68634044001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Heqa=q (i) BT SR BG4 T UF & SR & & uqar gl o 8. ol &
=0 H S o 2

1. 59k
. 3H&fag T
. 3fegfa] fediie

| )
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=

Options :

686340173809. 1
686340173810. 2
686340173811. 3
686340173812. 4

Question Number : 54 Question Id : 68634044002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following carry oxygenated blood?

1. Pulmonary Artery

[ )

. Pulmonary Veins

Lad

. Superior Vena Cava
4. Right Afrium

Options :

686340173813. 1

686340173814. 2

686340173815. 3
686340173816. 4

Question Number : 54 Question Id : 68634044002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad o 9 fog o sifgdior gaa wad glal g 2
1. o (PUpHr) gH-T
- UIaR 441 Srar
3T iftie (afeam)

| )
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Options :

686340173813. 1
686340173814. 2
686340173815. 3
686340173816. 4

Question Number : 55 Question Id : 68634044003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a common to place temperature sensors for skin temperature?

1. Arm

2. 18

=)

3. Head

4. Ear drum

Options :

686340173817. 1
686340173818. 2
686340173819. 3
686340173820. 4

Question Number : 55 Question Id : 68634044003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T % AHE & AU A SR @R & U A H S - 9 RE e § 2

191
%
RR

4. PIH PT U]

| )

[#5]

Options :

686340173817. 1
686340173818. 2
686340173819. 3
686340173820. 4

Question Number : 56 Question Id : 68634044004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



harmone promotes sodium reabsorption in the kidneys.

1. Meltatonin

2

. Antidiuretic
3. Aldosterone
4. Progesterone
Options :
686340173821. 1
686340173822. 2

686340173823. 3
686340173824. 4

Question Number : 56 Question Id : 68634044004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BTHIA 1[a (s & TifeTd Y Saxiiyu &l §¢id gal 6|
1. Heel S

H

4. U

Options :

686340173821. 1
686340173822. 2
686340173823. 3
686340173824. 4

Question Number : 57 Question Id : 68634044005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Place the following arteries in correct descending order of their location in the body.

A. Femoral artery
B. Carotid artery
C. Popliteal artery
D. Radial artery
E. Brachial artery

Choose the correct answer from the options given below:
1.B.E.D.A.C
2Z2B.D.EAC
3.D.B.E.A.C
4. C.E.D.A.B

Options :

686340173825. 1
686340173826. 2
686340173827. 3
686340173828. 4

Question Number : 57 Question Id : 68634044005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[rAfRad emi1al &1 3o IRR H |H & ST9R 95l ed HH 3 |

A TP (Ho) YTl
B. Utar ea=1

C. gigcited gd-t

D. Ifsard g5t

E. sfdbad (a1g) va-t

=i fau U f[d@edl § O 9gl 3Tk &1 944 Hiau ;

1.B.EDAC

2iB. B, BoAL
3.D.B.E.A.C
4. CCE DA B

Options :

686340173825. 1
686340173826. 2
686340173827. 3
686340173828. 4



Question Number : 58 Question Id : 68634044006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : Efficient supply of oxygen and nutrition via the circulatory system keeps every cell of the body
functioning efficiently.

Reason R : Distance running athletes run with their heart, not legs.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 18 NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct
Options :
686340173829. 1
686340173830. 2

686340173831. 3
686340173832. 4

Question Number : 58 Question Id : 68634044006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THIAPURTTE : U@ ¢ 3Py (A) F EUH ARG 8 o ORI S9N PRU(R) F U1 ;

SHTYEY (A) : HIR VIO & ATe0H ¥ SHTaRITeH SR UIY0r &1 A ST & SR IRR B 5L DD
PRIl I B B 5 |

BRU(R) : T S8 B1 318 a1 FGarsT 3o Ra Y Esd & 71 s ;R
SWRIad HYl & 3M1eiled |, -9 f3u 7 fas eyl § I el Sugad IR & 999 DI :
1. A SR R 3 961 € SR R. A S el AR ©
2. A SR R G 98! § U< R. A DI Ug! oORAT T8 &
3. AR B OfpT R TR T
4 ATEI TR g ST R WET ®
Options :
686340173829. 1
686340173830. 2

686340173831. 3
686340173832. 4

Question Number : 59 Question Id : 68634044007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : During high intensity short-term exercise energy supply to the working muscle is made by ATP-
PC and lactic acid system.

Reason R : Through Kreb-cycle and Electron transport system sufficient ATP is produced.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 18 NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Options :

686340173833. 1
686340173834. 2
686340173835. 3
686340173836. 4

Question Number : 59 Question Id : 68634044007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THAPHERUTT: 16 ¢ 3Py (A) FEuH ARd s o TR 99 IRU(R) F U1 ;

VB (A) : I ol aTed SfedTafyl STy & SR HIH $R- drell Huiig &1 Goll o gfd u
.t <t oiR Sfdes ufirs Ren gRI& ol 21

PR (R) : hd deb 3R gaide - URde- Horelt & Arend I guie U & i &1 3de- gia ol
SWRIad HYl & 3M1eiled |, -9 f3u 7 fas eyl § I el Sugad IR & 999 DI :
1. A R R M 981 & SR R. A D el IR 3
2. A SR R G 98! § U< R. A DI Ug! oORAT T8 &
3. ATRI R OfpTR TR I
4 ATEI TR g ST R WET ®
Options :
686340173833, 1
686340173834.2

686340173835. 3
686340173836. 4

Question Number : 60 Question Id : 68634044008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
A |[-Band I. [Dark zone
B. |A-Band II. |[In the midde of the sarcomers
C. H-Zone III. [Light zone
D. PM-line IV |In the middle of the A-band

Choose the correct answer from the options given below:

1. A-IV. B-1. C-II1. D-I1
2. A-IL B-1, C-IV. D-II
3. A-III, B-IV. C-I, D-II
4. A-IV. B-1. C-I11, D-II

Options :

686340173837. 1

686340173838. 2

686340173839. 3
686340173840. 4

Question Number : 60 Question Id : 68634044008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 gt 1 9 fHaE Sifon
T T T 11
A e ds 1 [T oA
B. g8 I [IRPHR b sk |
C. [tg-=A I1L. [aTg e oA
D. [TA-deA v [edgm g o

FfaiRad f[deedl § O Uel 3ok &l 944 DI

1. A-IV, B-I. C-III. D-II
2 AT B OV DA
3. AL, BaIW. G, DI
4. A-IV. B-1. C-I11, D-II

Options :

686340173837, 1

686340173838, 2

686340173839. 3
686340173840. 4



Question Number : 61 Question Id : 68634044009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The smooth muscle-fibers. comprising the visceral organs. are governed by the nervous system known as-

1. Vegetative nervous system

[ )

. Autonomous nervous system
3. Central nervous system
4. Peripheral nervous system

Options :

686340173841. 1
686340173842. 2
686340173843. 3
686340173844. 4

Question Number : 61 Question Id : 68634044009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T ST aTel SRIE® U=t dqefl &t dfe & g1 e e arar g ol GZESURIATIC]
EIGIE
1. g H(d difde o
RS URIIECIIGES
4, it &1 dfFer 4
Options :
686340173841. 1
686340173842. 2

686340173843. 3
686340173844. 4

[ ]

L]

Question Number : 62 Question Id : 68634044010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Female athletes who use anabolic steroids to boost muscular performance are especially vulnerable to -

1. Bouts of migraine

2

. Hormonal Malfunctioning

LFS]

. Developing male characteristics
4, Growing thick facial hair

Options :

686340173845. 1
686340173846. 2
686340173847. 3
686340173848. 4

Question Number : 62 Question Id : 68634044010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hﬁﬂuuﬁ?ﬁﬁwﬂfﬁfd’r%uﬂﬁﬁwﬂﬁ%m TAEI® wx1de &1 39an $d! ¢, fadiy =g
oI e F 3 Wit g1

1. 191534
2. BT GrE!
3. g2 fagivare o1 faerd
4. 982 T YA 9@ ITHET
Options :
686340173845. 1
686340173846. 2

686340173847. 3
686340173848. 4

Question Number : 63 Question Id : 68634044011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Puberty is the first stage of period and it is a period of stress and strain.

1. Childhood
2. Babyhood
3. Adulthood

4. Adolescence

Options :



686340173849. 1
686340173850. 2
686340173851. 3
686340173852. 4

Question Number : 63 Question Id : 68634044011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tia aft] 1 Ugdl IR0T R U8 a-19 aUT YT &t Hafd g1

1. dlcdlds]

2

NI

| )

3. dfihd]
4. TR RIRIGRT

Options :

686340173849. 1
686340173850. 2
686340173851. 3
686340173852. 4

Question Number : 64 Question Id : 68634044012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following emotion is related with borderline cases category of emotions?

1. Fear

[ )

Joy
3. Frustration
4. Hope

Options :

686340173853. 1
686340173854. 2
686340173855. 3
686340173856. 4

Question Number : 64 Question Id : 68634044012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafarad 5 9 S-37 419, HTa-13i ot Jiar e amal of 4oit 9 96fia g 2
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| )

 3Hg
BECIE

4. SR

L

Options :

686340173853. 1
686340173854. 2
686340173855. 3
686340173856. 4

Question Number : 65 Question Id : 68634044013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following personality type given by Sheldon is food lover?

1. Viscerotonic

| )

. Cerebrotonic

Lad

. Ectomorphic

4. Somato-tonic

Options :

686340173857. 1
686340173858. 2
686340173859. 3
686340173860. 4

Question Number : 65 Question Id : 68634044013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

35S R AU T feddd YR § § SH-91 HioH UH § 2
1. fawpici-ie

S EEIG I BET

Recaits) e

4, HEIEHI®

Options :
686340173857. 1

| ]

L]



686340173858. 2
686340173859. 3
686340173860. 4

Question Number : 66 Question Id : 68634044014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During period. most of the weight gain is as a result of increase in fatty tissue and not the
muscle mass.

1. Childhood

| ]

. Infancy
3. Adolescence

4. Adulthood

Options :

686340173861. 1
686340173862. 2
686340173863. 3
686340173864. 4

Question Number : 66 Question Id : 68634044014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{afdl & SR, IS goi adl SHad H gia & URUHEEY gidl & 7 & AfguREl &
GoIHH 4|

1. STedIa®RT

S

RG]
frgRmgw

| )

L

4. 94 dl

Options :

686340173861. 1
686340173862. 2
686340173863. 3
686340173864. 4

Question Number : 67 Question Id : 68634044015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many stages are in a group dynamic process?

1.3

b2
o

4,

Ln

Options :

686340173865. 1
686340173866. 2
686340173867. 3
686340173868. 4

Question Number : 67 Question Id : 68634044015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g TR e R RO GRS 2

153

b2
o

4,

[

Options :

686340173865. 1
686340173866. 2
686340173867. 3
686340173868. 4

Question Number : 68 Question Id : 68634044016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s NOT a theory of motivation?
1. Content theory
2. Process theory
3. Remnforcement theory
4. Hans Selye's theory
Options :

686340173869. 1
686340173870. 2



686340173871. 3
686340173872. 4

Question Number : 68 Question Id : 68634044016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiad @ 9 oH-a1 IR &1 Risid 981 8 2

fqva g% (@ee) fgia

wifshan R

. gigauy Rgid

fa—y

[ ]

L

=Y

Options :

686340173869. 1
686340173870. 2
686340173871. 3
686340173872. 4

Question Number : 69 Question Id : 68634044017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a part of motivational cycle?

1. Nead

| B

. Imagine
3. Arousal

4. Achievement

Options :

686340173873. 1
686340173874. 2
686340173875. 3
686340173876. 4

Question Number : 69 Question Id : 68634044017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafafad o 9 & H-91 1Re 9% 31 e =6l & 2
1. SR
2. P B
3. BIHRASH
4. JUetiel]

Options :

686340173873. 1
686340173874. 2
686340173875. 3
686340173876. 4

Question Number : 70 Question Id : 68634044018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : Ram 1s a cricketer and he gets negative feedback about his performance during practice matches.
s0 he start blaming others and writing blogs.

Reason R : Ram is a person who focuses on the emotions resulting from stress instead of centering his efforts
on the goal.

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R is false

4. A is false but R is true

Options :

686340173877. 1
686340173878. 2
686340173879. 3
686340173880. 4

Question Number : 70 Question Id : 68634044018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A SRR EHI T § IR R. A DI HgI IR 8l &

ATATABIR ST

4. AT AfPIR I B
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Options :

686340173877. 1
686340173878. 2
686340173879. 3
686340173880. 4

Question Number : 71 Question Id : 68634044019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following terms which define psychology from the earliest tune to modern age.

A. Behaviour

B. Soul

C. Consciousness
D. Mind

Choose the correct answer trom the options given below:

1.A.B,D.C
2.B,C.D,A
3.B,D,C.A
4.A.B.C.D

Options :

686340173881. 1

686340173882. 2

686340173883. 3
686340173884. 4



Question Number : 71 Question Id : 68634044019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad wrsal o1 raflyd &, 5 TR Sl YRS 900 3 A6 3eff-e gl db uRIfRd &id o

A. TdER
B. 3TET
C. Al
D. feam

i< fou T faeedi o 9 el SR &1 99 Sifoy ;
1A R . DE
2.B.C.D.A
3IB.D.CA
4 A.B.C.D

Options :

686340173881. 1
686340173882. 2
686340173883. 3
686340173884. 4

Question Number : 72 Question Id : 68634044020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Hostile aggression takes place when the primary mtention of the behaviour is to harm the other
players.

Statement IT: A number of psychological theories see aggression as instinctive and . at least to some extent.
mnevitable.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I 15 false but Statement IT is true

Options :

686340173885. 1
686340173886. 2
686340173887. 3
686340173888. 4



Question Number : 72 Question Id : 68634044020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICEAEAIC AR
HY1 : TEANY (BIRET) SPTHGAI a4 gldl & Wd HagR Pl UIUH® gR081 gHY Raars! &l JodT
EGEEIECI
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2. TYA [ 3R FYUF 11 A1 T &

3. HYF 1 Hgl § b YA 11 7Ad §

4, BYF 170 & A HYT 11 98t &

Options :

686340173885. 1
686340173886. 2
686340173887. 3
686340173888. 4

Question Number : 73 Question Id : 68634044021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following stages comes under prenatal stages?

A, Parturate
B. Embryo

C. Fetus

D. Neonate

Choose the correct answer from the options given below:

1. Aand B only

| )

. B and C only
3. Cand D only
4. A and D only

Options :

686340173889. 1
686340173890. 2
686340173891. 3
686340173892. 4



Question Number : 73 Question Id : 68634044021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad ¥ S oH-I sa 99 srawnefl & oraifd ot § 2

A UHd

B. Y00
c.mef
D. il g
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1. A A AR B
2. FaAB AR C
3. %HaA C IRD
4.%ad A 3R D

Options :

686340173889. 1

686340173890. 2

686340173891. 3
686340173892. 4

Question Number : 74 Question Id : 68634044022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the tips of achieving desired balance of emotion given in List-I with their respective meaning given in
List-II.

Match List I with List IT

LIST1I LISTII
A [Enhance self awareness 1. |Help vourself by helping others
B. [Engage in self-modeling II. |[Beware of your own emotions and feelings
C. [Be creative ITI. |Be the ideal for yourself
D. |Participate to community service] IV. [Engage in an activity that interest and amuses yvouyl

Choose the correct answer from the options given below:
1. A-IT. B-ITI., C-IV. D-1
2. AL B-IV, C-II1. D-1
3. A-IIT. B-IV. C-11. D-1
4. A-IIL B-IL C-IV. D-I

Options :



686340173893. 1
686340173894. 2
686340173895. 3
686340173896. 4

Question Number : 74 Question Id : 68634044022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At 1 7 4T 701Gl & aifesd Sda & U @3- & geirdi &1 gt 11 | 14U T 399 gaiid st 9
e |

T 1 T I
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1. A-II. B-III, C-IV, D-I

ofo[wF

2. A-IIL B-IV. C-1I1, D-I
3. A-III, B-IV. C-II, D-I
4. A-IT1, B-II., C-IV, D-I

Options :

686340173893. 1
686340173894. 2
686340173895. 3
686340173896. 4

Question Number : 75 Question Id : 68634044023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the personality disorder types given in List-I with their explanation given in List-II

Match List I with List IT

LISTI LISTII
. |Antisocial personality disorder| 1. |excessive emotion and attention seeking
| Avordant personality disorder | II [violating the rights of others
Histrionic personality disorder | II1. |Submissive and clingy behaviour
. |Dependent personality disorder] IV, Jextreme shyness

o] fo] [os] i

Choose the correct answer from the options given below:

1. A-IL. B-IV. C-III. D-I

|

. A-ITL B-IIL, C-1. D-IV
3. A-L. B-II, C-IIIL. D-IV
4. A-II. B-IV. C-I, D-III

Options :

686340173897. 1
686340173898. 2
686340173899. 3
686340173900. 4

Question Number : 75 Question Id : 68634044023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 1 ¥ U U e f[dpR & USRI &1 gl 11 1 4T 7T 6o & 91y gaferd o1

T 1 T 11
OIS Afdda [GpR | L |fAidd YIg-T iR & T
Ualscd oigdd [AaR 1 [g&R] & USRI Bl g4 BT
ERIRA® diada [dBR | 111 [[G79 3R T9aR deR
31%d cafddd [APR V. [sr@afed zifam

frafefea fawed & 9 96t SR &1 997 Sifoig :

1. A-II. B-IV. C-III. D-I

REE

| ]

A-TL B-IIL C-L. D-IV
3. A-1, B-II. C-III. D-IV
4. A-II. B-IV. C-I, D-III

Options :

686340173897. 1
686340173898. 2
686340173899. 3
686340173900. 4



Question Number : 76 Question Id : 68634044024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An object of mass 15 kg 1s moving with a uniform velocity of 4 ms-1. What is the kinetic energy possessed by
the object?

1.12017

| )

.2407
3.45017
4.301]

Options :

686340173901. 1
686340173902. 2
686340173903. 3
686340173904. 4

Question Number : 76 Question Id : 68634044024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 {oh U1 SO0 &1 Uh ] 4 ms™! UHHTH a7 I TMd B 61 & | 9% D1 el Soll ol g2

1.1207

| S

L2407
3.45017]
4.301]

Options :

686340173901. 1
686340173902. 2
686340173903. 3
686340173904. 4

Question Number : 77 Question Id : 68634044025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following energy 1s used by a sport person while playing 7

1. light energy

| B

. mechanical energy

LIPS ]

. heat energy

4. Chemical energy
Options :
686340173905. 1
686340173906. 2

686340173907. 3
686340173908. 4

Question Number : 77 Question Id : 68634044025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Us fgars] wed 9oy Hafiiegd O 9 eH- el gugh ad 82
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L

Options :

686340173905. 1
686340173906. 2
686340173907. 3
686340173908. 4

Question Number : 78 Question Id : 68634044026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In an Isotropic elastic body. the elastic properties will be?

1. Greater in the middle

| B

. Greater in the end
3. same 1in all directions

4, different in all directions

Options :
6863401739009. 1



686340173910. 2
686340173911. 3
686340173912. 4

Question Number : 78 Question Id : 68634044026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U& 3M1gdIciiue dEeR IR H deer ol B
1. 7 H s
2. 3 T e
3. gt femmeff & 3
4. T fezmait 7 fra

Options :

686340173909. 1
686340173910. 2
686340173911. 3
686340173912. 4

Question Number : 79 Question Id : 68634044027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Both kinetic and potential energies of a particle in Simple Harmonic motion i3
1. at zero
2. at maximum

3. vary between zero and maximum

4, at minimum

Options :

686340173913. 1
686340173914. 2
686340173915. 3
686340173916. 4

Question Number : 79 Question Id : 68634044027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. Y-AdH
Options :
686340173913. 1
686340173914. 2

686340173915. 3
686340173916. 4

Question Number : 80 Question Id : 68634044028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following formula is used to calculate angular Momentum?

. ¥ .
1. (moment of Inertia)” x angular velocity

2. moment of Inertia x angular velocity

3. moment of inertia  (angular velocity)”

4. (moment of Ineﬁiajz < (angular 1‘clocit}')2
Options :
686340173917. 1
686340173918. 2

686340173919. 3
686340173920. 4

Question Number : 80 Question Id : 68634044028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B0 HaT1 1 701 & fou FHafafad o 9 oH-31 97 Suai foar & g2
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Options :

686340173917. 1
686340173918. 2
686340173919. 3
686340173920. 4

Question Number : 81 Question Id : 68634044029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 7
In moment of Inertia formula I = mk=. k stands for

1. kilogram

[

. radius of gyration

L]

. torque
4. mass
Options :
686340173921. 1
686340173922. 2

686340173923. 3
686340173924. 4

Question Number : 81 Question Id : 68634044029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS 3MYU & A [=mk? F k BT o & -
1. fharmg
 SITEYH @ A
i

4. GolHH

| )

L

Options :

686340173921. 1
686340173922. 2
686340173923. 3
686340173924. 4

Question Number : 82 Question Id : 68634044030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the type of forces given in list I with their respective examples given in list -IT

LIST1I LISTII
Tension Force 1. fthrowing hammer throw
Compression Force] I1. |pulling a rubber
Sheer force ITI. squeezing a lemon
Centrifugal Force | IV |Folded mat slide over each othen

o[ ow[»

Choose the correct answer from the options given below:

1. A-IL. B-III, C-IV, D-I

| E)

. A-IIL B-IIL, C-I. D-IV
3. A-L. B-IV, C-III, D-II
4. A-I. B-III, C-IV. D-II

Options :

686340173925. 1
686340173926. 2
686340173927. 3
686340173928. 4

Question Number : 82 Question Id : 68634044030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Teft 1 5 Ru e S % YR 1 O 1 F R SR S SRl @ R B
T 1 Tt 11

SR I IR Ul & Al
Tiisdad | I Ras & diad

EREES] 111 [Hig &l Hdre
HUbed gd | IV, [431 U HE D] Uh gik WX K15 S Pl

FfaiRad f[deedl § O Uel 3ok &l 944 DI

1. A-II. B-III. C-IV. D-I

ofofw]s

|

. A-ITL B-IIL, C-1. D-IV
3. A-L. B-IV, C-III. D-II
4. A-1. B-I11, C-IV. D-II

Options :

686340173925. 1
686340173926. 2
686340173927. 3
686340173928. 4



Question Number : 83 Question Id : 68634044031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following solid item 1in a sequential order from more to less according to the speed of sound.
A Aluminum
B. Copper
C. Granite
D. Steel

Choose the correct answer from the options given below:

1A, C B,D

| )

.B,DyA, C
3JA.CCD.B
4.B.D.C.A

Options :

686340173929. 1
686340173930. 2
686340173931. 3
686340173932. 4

Question Number : 83 Question Id : 68634044031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[Fafeiad ag aggsil & @l B 71fd & SFER 3ie 4 0 & o § Haiyd S|
A. 3cgHiFTH

B. didl
C. UARe
D. 3T (K19)

i fau Y faeedi O O gt TR i

1A C RD
2.B.D.AC
JACDBE
4.B.D.C.A

Options :

686340173929. 1

686340173930. 2

686340173931. 3
686340173932. 4



Question Number : 84 Question Id : 68634044032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are called scalar?
A. Velocity

B. Distance

C. Displacement
D. Speed

Choose the most appropriate answer from the options given below:
1. A and C only
2. A Cand D only
3.A.Band D only

4. B and D only

Options :

686340173933. 1
686340173934. 2
686340173935. 3
686340173936. 4

Question Number : 84 Question Id : 68634044032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad ¥ O fog o afey ) og1ardr g2

A.éﬂ(ﬁ?ﬁi?{ﬁ)
BRI @Ew
C. fawe (fseegmio)
D. YR (T18)
= feu T e & 9 98 SR eI .
1. Pad A 3R C
2. FAAA.CARD
3. BT A. B AR D
4. FAAB IR D
Options :
686340173933. 1

686340173934. 2
686340173935. 3




686340173936. 4

Question Number : 85 Question Id : 68634044033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)

Assertion A: All waves requires a medium for their propagation.

Reason R: Sound waves require Air as a medium for their propagation.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R 1s false

4. A is false but R is true

Options :

686340173937. 1
686340173938. 2
686340173939. 3
686340173940. 4

Question Number : 85 Question Id : 68634044033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 U (AU §: U DY (Assertion A) & $U T [ATREd § Ol GIRT 3HP PRUI (Reason R) & $U T
ffiymyT A 9t T &1 3197 TR & o A1eH & S9egdHd gidl ¢

HROTR: @G TN & THR & [0 I1e90 & &9 3§ a7 &1 Sa<aadi sidl o

SWRIGd DY P el 1, A [3U fasedi o ¥ 968 SUgad Sl &1 997 Sife

1. AR REF TG € AR R AP Ue! RS §
2. A R R A TE §. AP R A T T AR el &
3 ATEI AP R TSRl ©
4 AR TS E AfPT R WEL B
Options :
686340173937, 1
686340173938. 2

686340173939. 3
686340173940. 4




Question Number : 86 Question Id : 68634044034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: The shear modulus is also known as modulus of rigidity.
Statement IT: The young modulus is also known as modulus of elasticity.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I 1s false
4, Statement I is false but Statement I 1s true
Options :
686340173941. 1
686340173942. 2

686340173943. 3
686340173944. 4

Question Number : 86 Question Id : 68634044034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERACAICAC R U
FY I HI=U0] H1YIEH T HE Rl HUie & &0 § U I sar gl
HY 11: a1 ATi® S @i & A9 & =0 5 o o1 a1 |

SWRIGd PY & el H, -1 U U fadedl ¥ 9 9a9 S9gad SR &1 98- DI
1. BY 1 3R 1 T Tt ©
2. YT AR I &I Tad &
3. DY He! 6. Al DY 1 7d &

4 PYT I, AT HYT I 98l §

Options :

686340173941. 1
686340173942. 2
686340173943. 3
686340173944. 4

Question Number : 87 Question Id : 68634044035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As per the National Food security Act. 2013. every person belonging to priority households shall be entitled to
receive of food grains per person per month at subsidized prices.

| )

4 kg

k

3.

L

4. 10 ke

Options :

686340173945. 1
686340173946. 2
686340173947. 3
686340173948. 4

Question Number : 87 Question Id : 68634044035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST AT IR&T SHUFEH 2013, & TR WrUfindr 9 uRaRi ¥ 6t yde ofed did 31
Qe Radl 98 & U 1 Uik 634 91 USRI gl

1.2 foou
2. 4 foomm
3.5 fomm
4. 10 fooumm

Options :

686340173945. 1
686340173946. 2
686340173947. 3
686340173948. 4

Question Number : 88 Question Id : 68634044036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As per the nutritional standards for children in lower and primary classes under the Mid day meal scheme,
what 1s the amount of calories should he given to upper primary classes ?

1. 500 keal

| )

. 800 keal
3. 700 Keal

4, 600 Keal

Options :

686340173949. 1
686340173950. 2
686340173951. 3
686340173952. 4

Question Number : 88 Question Id : 68634044036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hedlg HISH JioHl & dgd 19 Ud 3= Wiufie Sensil § §=i & oy UiNo HHei & ORI WiyiHe
He&13f B fha-t dant & o =nfeu 2

1. 500 fbell it
800 ol el
3. 700 Tl SBaRT
4. 600 febell BERT

Options :

686340173949. 1
686340173950. 2
686340173951. 3
686340173952. 4

[ ]

Question Number : 89 Question Id : 68634044037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following is termed "nervous loss of appetite' ?
1. Binge-eating disorder
2. Anorexia athletica

3. Bulimia nervosa

4. Anorexia nervosa

Options :



686340173953. 1
686340173954. 2
686340173955. 3
686340173956. 4

Question Number : 89 Question Id : 68634044037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 o 9 o 139 &1 dfieet g1i- ST ol 82

1. fgurqar @ &1 faeR

TR TyRifcsT

- gfcrfiar Fata

AR TatE

Options :

686340173953. 1

686340173954. 2

686340173955. 3
686340173956. 4

| )

L

=

Question Number : 90 Question Id : 68634044038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From out of the following. choose the food item which have lowest protein digestibility-

1. Meats

b2

. Cereals

3. Legumes

=y

. Dairy Products

Options :

686340173957. 1
686340173958. 2
686340173959. 3
686340173960. 4

Question Number : 90 Question Id : 68634044038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 o & 3 arey var &1 90 $1 o 9ed S UIcH urEERiied gl © -

1. 1Y

| )

ST
i

4. SR IdG

[FN]

Options :

686340173957. 1
686340173958. 2
686340173959. 3
686340173960. 4

Question Number : 91 Question Id : 68634044039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of following which one is not a nonsporeformers biological hazard of food processing steps -

1. Campylobacter

| B

. Listeria monocytogenes
3. Vibrio cholerae
4. Bacillus cereus

Options :

686340173961. 1

686340173962 2

686340173963. 3
686340173964. 4

Question Number : 91 Question Id : 68634044039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT ¥ ¥ S H-91 Ue TR-HI010] B @re JER0] 907 & oide @’ 8 § 9ol 87
1. BIEAGFRR

fere i AFTEeSiF
. fafsrat et

| )

[#5]

=

ey 39

Options :



686340173961. 1
686340173962. 2
686340173963. 3
686340173964. 4

Question Number : 92 Question Id : 68634044040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to National Advisory Committee on microbiological specification for food, USA. what is true about
Hazard 'A'?

1. Non sterile product. intended for high-risk consumers
2. Possible recontamination after processing
3. Eaten without heat treatment
4. No treatment elimmating the hazard
Options :
686340173965. 1
686340173966. 2

686340173967. 3
686340173968. 4

Question Number : 92 Question Id : 68634044040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@re & oy Hgsmiamenoied f[afHE gl wR AP FARSR FHld. ZUHY, & STER 5SS T & aR H 71
=

-

TRRINUEH Jcdle, 3o SIRGH daTdd SUHTeR & foid Sifivd g
RS & 918 HUTad G e

91 gie dietie & @ml

| )

s

4. G BT TH B A1 Plg ST ol

Options :

686340173965. 1
686340173966. 2
686340173967. 3
686340173968. 4

Question Number : 93 Question Id : 68634044041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For food energy. 1 calorie expresses the quantity of heat needed to raise the temperature of 1 kg of water to 1°
C. which is specifically from -

1:16:5% 40 17.5"7 €
2. 15.5% 10 16.57 C
3.145%t0 15.5° C
4,13.5%t0 14.5° C

Options :

686340173969. 1
686340173970. 2
686340173971. 3
686340173972. 4

Question Number : 93 Question Id : 68634044041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WE ol & fou. 1 HaR! 1 fed urit & argeH & 1° QTS 9% 9eM & o awgs 31 & 9 &I
ad Bdl 6. Wl Ay =T o g -

1.16.5° ¥ 17.5° Wfcayg
- 15.5° 9 16.5° Iieqad
- 14.5° 9 15.5° Ay
4.13.5° 9 14.5° Ifcdgd

Options :

686340173969. 1
686340173970. 2
686340173971. 3
686340173972. 4

| )

T

Question Number : 94 Question Id : 68634044042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : A Kcal more accurately defines the calorific value of food and is used in most application related
to food and human energy transfer.

Reason R : One-half cup of peanut butter with a caloric value of 759 Kcal contains the equivalent heat energy
to increase the temperature 1° C for 759 L of water.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A is nor correct but R is correct

Options :

686340173973. 1
686340173974. 2
686340173975. 3
686340173976. 4

Question Number : 94 Question Id : 68634044042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 U (AU §: U SHTBYUT (Assertion A) & $U T [eTRd § Ol GIRT 3HP PRUI (Reason R) & ST T
fFHYT A: TS fhd! paR! Sifid Id® =0 I HivH & BaR! 34 &f gRHIRG H3dar ¢ 3R gT@!
SYAINT Yo SR O1Hd &l gl I Haled Sieei=r sgua o foar sirar g |

DR R: T Y YIHE ge [ogd] vl H19 759 ([l daR! ¢ 39 o=l GHded 381 3ol oidl & ol
759 TTex U1 &1 a19q 1° Wieqgy 9% §¢l 9@l g

SWRIGd DY B Al 1, Hid [3Y fasedi o ¥ Ia8 Sugad S &1 997 Sifo

1. A3RREA TGl € AR R AP Uel S §
2. ARREF T8I &, AP R. AT TSI ARAT 6l &
3 ATEI S UMPTIR TSRl ©
4 AT I AfFTR TS ®
Options :
686340173973. 1
686340173974, 2

686340173975. 3
686340173976. 4

Question Number : 95 Question Id : 68634044043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Nuts and oilseed in low to high value of protein received after having 100 grams of that
tood item -

A. Watermelon seeds
B. almond

C. fresh coconut

D. Groundnut

E. Til

Choose the correct answer from the options given below:
1.LA,B,D,C.E
2.C,E,D.B.A
3.C,B,D.E.A
4 C.E.B,D.A

Options :

686340173977. 1
686340173978. 2
686340173979. 3
686340173980. 4

Question Number : 95 Question Id : 68634044043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad 7e SR fide o @ el & 100 97 $1 497 B & dE WK AcH & Fg 3 g= geg o
afYd P -
A. TR & gl

B. dlalH
C. ATl AT

D. THl
E. faa

- feu e fas el # 9 Tl SR i -
1.LA,B.D,C.E
200 E B A
3.C.B.D,EA
4. C.E.B.D.A
Options :
686340173977. 1

686340173978. 2
686340173979. 3



686340173980. 4

Question Number : 96 Question Id : 68634044044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following provisions of food safety as per their establishment from beginning to recent -

A. The Insecticides Act

B. Export (Quality control and mspection) Amendment Act
C. The Environment Protection Act

D. India Penal Code. 1860

E. Consumer Protection Act

Choose the correct answer trom the options given below:
1.D,A.B.C,E
2D A B.E
3.D,E.B.C.A

4 D.AB.EC

Options :

686340173981. 1
686340173982. 2
686340173983. 3
686340173984. 4

Question Number : 96 Question Id : 68634044044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT GR& & FEfiad Urauri &1 31! R & TR URY U gld d & H H oIai&yd & -

A BleATD A9HTH

B. frafd dumeq e
C. JUiaR0T TR fefas
D. HRdI &5 Higdl. 1860
E. JUHiaal SReur sffef—as

Hid f4u U [doedl | ¥ 9ol 3R &1 944 Sl ;

1.D.A.B.C.E

[ )

.D.A.C.B.E
3.D,E.B.C.A
4 D.ABEC

Options :



686340173981. 1
686340173982. 2
686340173983. 3
686340173984. 4

Question Number : 97 Question Id : 68634044045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Drinking water can help in weight loss. as it wash away the fat from the cells, or these extra
calories we get from overeating.

Statement II: When a person or a child suffers from diarrhea and vomiting. restrict their water intake, it will
stop it.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is correct but Statement II 1s false

4. Statement I is incorrect but Statement II 1s true

Options :

686340173985. 1
686340173986. 2
686340173987. 3
686340173988. 4

Question Number : 97 Question Id : 68634044045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIERAR-AICAC R ]

FYA 1: U &1 UFT I35 e B Acg &R Iodl &, dife ge SI@Es T a1 &1 a1 37 Afafived sar!
B gH e ER 9 fad e S e 3 g |

TY I1: Ofd DI5 odiad 01 =1 5% 3R Seel § UIfed BIdT 5. df U1 &1 Ya- Aiftd &, S99 g 8g ol
ST

SWRIGd DY B ATl T, i 34U U ferdedi T ¥ 99 Sugad Sk &1 99 ST
1. Y1 3R 1 3T TE €
2. BY 1 AR 11 1 7T &
3. DY He! 6. Al DY 1 7d &

4 PYT I, AT HYT I 98l §

Options :
686340173985. 1



686340173986. 2
686340173987. 3
686340173988. 4

Question Number : 98 Question Id : 68634044046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of following. what are included in the process of detection of other oils in coconut oil.

A Take coconut oil in a transparent glass
B. Place this glass in the freezer for 10 minutes
C. Place this glass in the refrigerator for 30 minutes
D. Add 2Tbs of salt
Choose the correct statements from the options given below are:
1. A and B only
2. Aand C only
3.B and D only
4. A. B and D only

Options :

686340173989. 1
686340173990. 2
686340173991. 3
686340173992. 4

Question Number : 98 Question Id : 68634044046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ¥ @ Tga aa § o ddi &1 gd1 @ & uisear | oar e g1

A, U9 R e # Fikga 1 da o

B. 5O & 10 fie S RupoR d@ ¢
csafmm o s e i@ s
D. 2 99T 9H9% SIci

- fau e fawed! & 9 Hel IR <o -
1. $ac A 3R B
2. PaAAARC
3.%ad B IR D
4. PaAA.B AR D

Options :



686340173989. 1
686340173990. 2
686340173991. 3
686340173992. 4

Question Number : 99 Question Id : 68634044047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
We chew or masticate food. and grind it. Chewing food helps to -

A. Increase the surface area of food
B. Break the cell walls of cells

C. Releasing the nutrients

D. Nourish the food

Choose the correct statements from the options given below are:

1. A and B only

[ ]

.A.Band C only
3. B and C only
4. B and D only
Options :
686340173993. 1
686340173994. 2

686340173995. 3
686340173996. 4

Question Number : 99 Question Id : 68634044047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BH Yo @ 9 3R 4Hd 8. YieH & 96 4 #eg fHadi © -

A. HISH &1 Hdg &7 dglU
B. BIEH13M B SR iR & dign

C. TN dadl I SR 3G
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1. Hdd A 3R B
2. HIAA.B AR C
3.%aa B 3R C

4. FAAB IR D




Options :

686340173993. 1
686340173994. 2
686340173995. 3
686340173996. 4

Question Number : 100 Question Id : 68634044048 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LIST I Food Safety Organisation LIST II Country
. |Centre for food safety I Malavsia
Food and Drog Administration II. |China

Food Safetv and Quality Division | I [Hong Kong

. |State Food and Dirug Administration| TV, [Taiwan

o] fo] [o=] F=g

Choose the correct answer trom the options given below:

1. A-I. B-IV, C-II, D-III

| ]

AL B-IV. C-1. D-IT
3. A-IV. B-IIL C-I. D-II
4. A-ITT, B-IV. C-II, D-I

Options :

686340173997. 1
686340173998. 2
686340173999. 3
686340174000. 4

Question Number : 100 Question Id : 68634044048 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-IV. C-II. D-III

ol Fod sl Jre

2. A-IL B-IV. C-1, D-II
3. A-IV. B-IIL. C-1. D-II
4. A-III, B-IV. C-II, D-I

Options :

686340173997. 1
686340173998. 2
686340173999. 3
686340174000. 4



